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1 ER$ (Euler) AR e =cosp + ising Al 15 & $ = HIEHR N
z = pe* (1.1, 4)
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Y5 , LA argz Fom H Al 2 &
—nx < Argz <«
B — R . JF PR arge B Argz (EE. R : WERA. TREA
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=17 2 < (1.1.5)
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z <
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z=z" =x —iy=p(cosp — ising) = pe i (1.1.6)
o5 5 H50 LA
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i Vz =2z;
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2 42 = (2 F22) +ily + 32) (LL1.7)
FH U AT LT A A e A RN 45 5 R T MK N Y Ok SR A T A B R R X N T R A R R
BB AL AN 1 - 3Ca) s, AT Al DL
|21+ 2 I<| 2z [+] 2 | (1.1.8)
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2y — 2y =(x, — 1) +1(y; — 33) (1.1.9)
AT AT AN TE (UL P 1 - 3(bh))
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¢1.1,12)

71z = pp2[ cosle + @) + isin(g + @) ] (1. 1. 13)
212 =ppr e’ (1.1.14)
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AT R = AR o A REME— B E BT AN 20 AR R R RV AR
8 o/n WAk AT LA 20c/n (98 REH0, T X F 419 2.0z AT U AN A R 9 4.

FEEE 2P 52 | 2" RER W p BF T, i (1. 1.13) X (1. 1. 14) af 41
2" =z [P MEER - AT, B 2z =2°.
1 K TR = AR SR EERA.

(D)z=—4/12 — 2i; (2)z=sin%+icos%.
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._2 N
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— 12 3 6
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= WA ECR AN
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) 2 5 10
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5 2 5 10
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10 10
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z = eit™
B2 .z APAMEEREGUEY .
D | zoz =z || 2 |; ) |24z 1< 2 [+ 2 |
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B WA
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EAE T AZRER « My B 0L 48 ek 8
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